
�1wibenchmfg.com 507 E. Grant St. Thorp, WI 54771 • P - 800.242.2303
V043019  subject to change.

ELO® Court Team Table

 Step 2

To o l s  R e q u i r e d
•	 Screw gun 
•	 4mm Hex bit
•	 Drill bit extension

Model #
Smooth Silver 
Sku #

Black 
Sku# Description Height"

ELSG 04066821-G4 04066821 ELO® 2" Straight Round Adj. Leg (ELS) 21, 24, 28, 35 & 39

Part Identifier Key

H”
Pedestal 
Base # Top D” Silver Sku # Black Sku#

Pedestal 
Base # Top D” Silver Sku # Black Sku#

Pedestal 
Base # Top D”

Silver 
Sku #

Black 
Sku#

22.25 1844 24, 30, 36 0409895-21-S 0409895-21-B 2244 42, 48 0402016-21-S 0402016-21-B 2267 60

25.25 1844 24, 30, 36 0409895-24-S 0409895-24-B 2244 42, 48 0402016-24-S 0402016-24-B 2267 60

29.25 1844 24, 30, 36 0409895-28-S 0409895-28-B 2244 42, 48 0402016-28-S 0402016-28-B 2267 60

36.25 1844 24, 30, 36 0409895-35-S 0409895-35-B 2244 42, 48 0402016-35-S 0402016-35-B 2267 60

40.25 1844 24, 30, 36 0409895-39-S 0409895-39-B 2244 42, 48 0402016-39-S 0402016-39-B 2267 60

Part # Description Qty.

04009023
1/4”-20x15mm joint connector bolts

(Used to fasten leg to top)
•	 6 per leg
•	 12 per pedestal

Assembly Instructions
Before you begin, please make sure all parts and proper quantities are included. (See Part Identifier Key)  Any parts damaged during shipment must be 

reported within 24 hours of receipt.  To report information regarding damages or if you have any questions, please call 800.242.2303.

Step 1:  
•	 Place top face down on protected surface so threaded 

inserts are facing up. 

Step 2:  
•	 Align ELO straight leg with threaded inserts.

•	 Connect leg to desktop with the 1/4-20x15mm joint 
connector bolts. 

•	 Use a screw gun, 4mm Hex bit and a drill bit extension 
to tighten the joint connector bolts to the desktop. 

•	 Repeat this for the rest of the legs and pedestal.

Step 3:
•	 Adjust legs to match the height of the pedestal and 

then with someone’s help, flip table over.



�2wibenchmfg.com 507 E. Grant St. Thorp, WI 54771 • P - 800.242.2303

ELO® Court Team Table 
with 2.5” Grand Hank Glides

Step 1:  
•	 Remove Nylon glide from leg by rotating counterclockwise until 

glide is free. 

Step 2:  
•	 Place stem of Grand Hank glide into the hole on the leg. Rotate 

clockwise until fully inserted into leg. 

Step 4:
•	 Repeat for each Grand Hank glide. 

Step 1:  
•	 Place top face down on protected surface.

Step 2:  
•	 Align tabs of the backpack hook with the metal inserts. 

Step 3:
•	 Use 1/4-20x15mm joint connector bolts to fasten both of the tabs 

of the backpack hook to the top. 

ELO® Court Team Table 
with Backpack Hook  

To o l s  R e q u i r e d
•	 1/2” Wrench 

To o l s  R e q u i r e d
•	 Screw gun
•	 4mm Hex bit

Part # Description Qty.

040164 13/8 Dia. Grand Hank glides, 3/8-16 x 1” 1 per leg

04009308-X1 (black)

04009308-G4 (smooth silver)

Backpack hook 

(Needs (2) 1/4”-20x15mm joint connector bolts)
1 

04009023
1/4”-20x15mm joint connector bolts

(Used to fasten backpack hook)
2 per backpack hook

Part Identifier Key

Assembly Instructions
Before you begin, please make sure all parts and proper quantities are included. (See Part Identifier Key)  Any parts damaged during shipment must be 

reported within 24 hours of receipt.  To report information regarding damages or if you have any questions, please call 800.242.2303.


